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2H: BEESDY
Bu: HOlSX JIBAL 25
@2 A=y Hols22 (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
— 2BtE 300& *1,0000H 300
— S0 1,930& *1000H 193
OCCTV &Ilea S 1,200
OMYIJISEEI ZAIE CCTV dE23HE AMEE 6,000
Ost=HII283 ™3l 2,000
202 04| 8,000 8,000 0
01 2LHOHI 8,000 8,000 0
O &EHEA SEHOHI(2H0IEE) 5,000
OMYEHIIZE £ XNEHIIZ NE&SHH oYl 2,000
OMEHIIE SYHED| 0F2HES | 1,000
206 T2 HI 58,012 56,012 2,000
1 MZ 8l 58,012 56,012 2,000
OHEZS HEX =HE 2 500,000 7 M 3,500
SASMYD dFHMAHE EFHM 2L
100,000& *10S 1,000
oMoles ¢ OFCHA = (5L, 10L,20L,50L, OFCH
s) 35,000
OMEES =18 dESE N& 2,000
OoNgEgsE Ecl=Hg H&E 2
500,000& * 154 7,500
OoMees =1t 12y ¢
5,000& 5004 2,500
oNggs 2el=Hs 0tth »¢
3503 3000 x 122 x 1201 & 1,512
Osa2 Mgl & M= (604 ,1202 ) 5,000
301 LptE A3 10,200 10,200 0
11 IIEtE &2 10,200 10,200 0
OMYIl EHED ANEZMNZ 100
O3S N AZ 100
ONgEE =1 242 10,000
307 QI2t0| & 105,000 75,000 30,000
05 A2t E = 105,000 75,000 30,000
OosAaSsMd I AEHe 85,000
O=dl & SEED| MY I /A&H S 20,000
e E 292 214,710 249,280 34,570
201 Bt A | 145,710 166,280 N 20,570
01 AFR2 2t 2l Yl 68,450 89,020 N 20,570
OXdts =22 A 510,000& *3H 2 x4 3| 6,120
O&EE4 XMeldx= =Z22A 350,000& *123] 4,200
OstgiIga &gs Y HH3 2 10,500
- moi= 7,000
— &3 3,500
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sStAEY s
HOISHe2l JIEtAlE &=
Na=sd Hol22e Ctel &)
SAH-EB .S (3H) - HEAY - BE2 il HDS2
O&J|otNM2e s Z 120,000& *123] 1,440
Oztd DIg& HLES s 16,0003 »35Y 560
OHEEANLE A2E 2 200
OE2gA ¢l 2,000,000 2,000
ONgd 2t e HII2 Hel 5,000,000 5,000
O & &2 26,950
- =% 50,000& x365 18,250
— X 50,000& x114 5,700
- = (H0IE 8) 50,000& x60 3,000
OYxImHIIZS Hel 5,000
Ogag a8 HE 30,000& x4 3] 120
OtlEass 15,000& x2& *123] 360
O8I gUha 500, 000& *2CH 1,000
OUHEAIE &L THESAE SNEL(ZEI] S) 5,000
02 332494l 77,260 77,260 0
Olgd dMIIR3 1,500,000& x123] 18,000
OEg & A& 3,500
ONEE &% AIEE 50,000& x12& 600
OZ24)| | Xl 8,000
OMSA eSS 5,000
O&S X HAH 60,000& *23] 120
OJtazm 100, 000& *33] 300
OEXE A 36,500
—s=0 7,000, 000& =1CH 7,000
—-3== 5,000, 000& = 1CH 5,000
—-3=24E 3,500,000 *1CH 3,500
— 3 AX 7,000, 000& *3CH 21,000
OHEZEEHKSU(MXYIIMNEE 2€ EE) 5,000
ORdes| 20,000& x123] 240
206 M = 8l 29,000 27,000 2,000
01 & bl 29,000 27,000 2,000
OFEF HelLE 7¢ 5,000,000 5,000
OMEE ASAUE U (AHMAHM , Sollcl S El
XA 7,000,000& x 14 7,000
Oogde 2¢ 3,000, 000& x2CH *23] 12,000
O&dXl €x4EF 2 5,000& *1,000kg 5,000
401 Al HI L 2 Yl 40,000 55,000 A 15,000
01 A& HI 40,000 55,000 A 15,000
Odlatg+& D] (50kwW) o 25,000, 000& * 14! 25,000
ods & = 43 uA 15,000, 000& =14 15,000
MAHDIISEH HAXNE =HHE XA 10,000 10,000 0
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SN BAESD
M HIIZSHE JIBtAIE &=
e XNF=EE HoIS2el (2 &HH)
. _ = SfE|
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 2,000
- 8,000
201 gEt24Hy| 10,000 10,000 0
= 2,000
= 8,000
01 AP 2t 2] d| 10,000 10,000 0
OMYIIZSEH MAKXNSE =HHE2 KNS 10,000
& 2,000
= 8,000
ZHHY =HEHAZ A 42,000 46,200 N4 ,200
= 1,500
o= 1,050
= 39,450
301 et A= 42,000 46,200 N4 ,200
= 1,500
o= 1,050
= 39,450
11 JIEtE A2 42,000 46,200 A4 ,200
sZHH Y £H&dHd2 A 40,500
< 1,050
= 39,450
OsZHHY XelX3Ag 1,500
= 1,500
ot&EGt MY Dl HEAY 86,000 86,000 0
= 60,000
= 26,000
101 e1214| 77,400 77,400 0
2 54,180
= 23,220
04 JI2ZtHIZ22NEE S 77,400 77,400 0
O 2st2MAY DI HSAIY 77,400
= 54,180
= 23,220
201 LBt 8,600 8,600 0
= 5,820
= 2,780
01 AP 22| H| 8,600 8,600 0
O&&2AB2MAY D HtAY 8,600
= 5,820
= 2,780
HA2LH MY IIMHe 22 9,763 0 9,763
& 4,882
= 4,881
308 MXISHHMSOIA 9,763 0 9,763
= 4,882
= 4,881
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AN EIESH
M HIISH2 JIBAIE &5
&S NS HIIS2e (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
07 IXNSHH AR S = 9,763 0 9,763
Og&d =} XdlJ| el BE= 9,763
< 4,882
s 4,881
L2SH0E EAH XNFAY 369,600 288,000 81,600
= 184,800
= 184,800
403 A X EHHS =0l A 369,600 288,000 81,600
= 184,800
s 184,800
02 S| 2SO0l CHEHCH & AF I 369,600 288,000 81,600
OL==d0E A NN 369,600
= 184,800
i 184,800
SsEoHE 2= KN ALY 60,000 60,000 0
= 18,000
s 42,000
401 Al HIZ 201 I 60,000 60,000 0
= 18,000
s 42,000
01 A& HI 60,000 60,000 0
SSHOHE HEXNIAMNY 60,000
= 18,000
[ia 42,000
HEZE =8 FU=JAAMY 50,000 25,000 25,000
401 Al BIZ 201 8] 50,000 25,000 25,000
01 A& HI 50,000 25,000 25,000
Ogdits sti==2 J4lAS 50,000
HWees(st3Es) 2,981,291 4,675,545 A 1,694,254
LHEAHH K= 2,981,291 4,675,545 A 1,694,254
ST ANSELSH HES 2,259,908 4,216,511 A 1,956,603
701 JIEtSI HEHES 2,259,908 4,216,511 21,956,603
01 JIEtZIHEES 2,259,908 4,216,511 A 1,956,603
Od=EALEEH HES 2,259,908
St=S A SESNH MES 721,383 459,034 262,349
701 DBt HSESEES 721,383 459,034 262,349
01 JIEtel HE &= 721,383 459,034 262,349
Odt+=CTALSESH d=3 721,383
HH2HZH (BZ2ES ) 79,368 77,737 1,631
Jl= &l 79,368 77,737 1,631
gFES W Jl=ZHl 79,368 77,737 1,631
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